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QUESTION 1

Which three products have been integrated into VMware Workspace Suite to power virtual workspaces and combine
application and data management on devices? (Choose three.) 

A. vRealize Automation 

B. AirWatch Mobility 

C. VMwute Workspace Portal 

D. VMware Horizon (with View) 

E. vCenter Server 

Correct Answer: ABD 

 

QUESTION 2

A medium sized company manages over 1,000 virtual machines, which are running on six ESXi hosts in a VMware
Horizon 6 infrastructure. 

The existing storage array is suffering lion performance and capacity issues. The company is considering deploying a
new storage array, but is concerned about the cost. 

Which VMware solution otters a software-defined storage platform that is fully integrated with vSphere and can be
deployed without the need for an external storage array? 

A. iSCSI 

B. Fibre Channel over Ethernet 

C. Virtual SAN 

D. VMFS 

Correct Answer: B 

 

QUESTION 3

A consultant is designing a Horizon (with View) deployment and has been informed by the client that several
departments allow their users lo work from home three days a week Which product or component can help secure the
users\\' access to their virtual desktops? 

A. AirWatch Secure Content Locker 

B. VMware Workspace Portal 

C. View Security Server 

D. NSX Manager 
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Correct Answer: C 

 

QUESTION 4

Which component of VMware Horizon Blast will provide a consistent experience (o end users regardless of the type of
device or location of the device being used? 

A. Blast 3D 

B. Blast Live Communications 

C. Horizon Clients with Blast 

D. Blast Local Access 

Correct Answer: D 

 

QUESTION 5

An administrator wants to deploy application pools, but the company is concerned about securing and managing them.
How do application pools overcome the company\\'s concerns? 

A. Applications are presented the same way on different devices. 

B. Applications can be installed locally. 

C. Applications are stored centrally in the data center. 

D. Applications are dedicated for each user. 

Correct Answer: B 

 

QUESTION 6

Which statement represents a Customer Requirement that could be met by implementing a VMware Horizon (with View)
deployment? 

A. We need to centralize access to common services and provide a uniform, secure, easy to manage image for
employee access. 

B. We want to reduce the amount of hardware in our datacenter by making more. 

C. We are looking for an easy way to recover our user services in the event bf unplanned downtime. 

D. We need to centralize our management functionality and be able to quickly and efficiently monitor our datacenter
services. 

Correct Answer: C 
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QUESTION 7

Several users of a desktop pool are complaining of slow login performance. How can Persona Management improve the
pool\\'s performance? 

A. By allowing the VMware administrator to store all user documents and settings directly to a VMFS datastore. 

B. By downloading the user\\'s settings and desktop on demand, rather than downloading the entire configuration at
logon. 

C. By frequently saving used files to a local SSD device to improve read performance. 

D. By allowing the user to store their desktop and settings to a USB device to improve recovery. 

Correct Answer: B 

 

QUESTION 8

A Help Desk engineer has expressed concern about the security of user data in virtual desktop sessions. How is user
data potential in View session? 

A. Horizon (with View) caches user data in local RAM on each ESXi host to avoid transmission across the network. 

B. Horizon (with View) uses CHAP to protect user data. 

C. Horizon (with View) encrypts user data at the Connection Server and decrypts it with a user- supplied smartcard. 

D. Horizon (with View) encapsulates and encrypts sessions using SSL to protect user when using PCoIP. 

Correct Answer: AD 

 

QUESTION 9

A business has a widely distributed sales force where many users do not live anywhere near a dedicated 

office. The business wants to Issue them a laptop and manage the, laptop remotely. 

Which VMware solution meets this business need? 

A. VMware AirWatch 

B. VMware Workspace Portal 

C. VMware ThinApp 

D. VMware Mirage 

Correct Answer: C 

 

QUESTION 10
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Which two application support issues can be eliminated by using VMware ThinApp application visualization? (Choose
two.) 

A. Users need to be given administrative credentials for their PCs in order to install some applications. 

B. Applications can make registry or system file changes that conflict with other applications. 

C. Users require multiple licenses for applications installed on different systems. 

D. Applications require large amounts of redundant disk space when installed in end user PCs. 

Correct Answer: BC 
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